## UNITED STATES BANKRUPTCY COURT SOUTHERN DISTRICT OF NEW YORK

In re:

FLAG TELECOM HOLDINGS LIMITED,

FLAG LIMITED,

FLAG ATLANTIC LIMITED,

FLAG ATLANTIC HOLDINGS LIMITED,

FLAG PACIFIC USA LIMITED,

FLAG TELECOM GROUP SERVICES LIMITED,

FLAG TELECOM LIMITED, FLAG TELECOM USA LTD., FLAG ASIA LIMITED, and

FLAG ATLANTIC USA LIMITED,

Debtors.

Chapter 11

Case Nos. 02-11732 (ALG) through 02-11736 (ALG) and 02-11975

through 02-11979

(Jointly Administered)

## SUMMARY SHEET PURSUANT TO UNITED STATES TRUSTEE GUIDELINES FOR REVIEWING APPLICATIONS FOR COMPENSATION AND REIMBURSEMENT OF EXPENSES FILED UNDER 11 U.S.C. § 330 AND 331

## FINAL APPLICATION

NAME OF APPLICANT: Appleby Spurling & Kempe

TIME PERIOD: April 12, 2002, through October 9, 2002

**ROLE IN THE CASE:** Attorneys for the Debtors

**CURRENT APPLICATION:** Fees Incurred:

> Total Fees Incurred \$415,899.00 Total Fees Requested \$415,899.00

> Expenses Requested: \$12,309.77

PRIOR APPLICATION: Fees Previously Requested: \$243,692.00

> Fees Previously Awarded: \$243,692.00

> Expenses Previously Requested: \$7,931.30

> Expenses Previously Awarded: \$7,931.30

## **HOURS BILLED**

NAME OF PROFESSIONAL PARTNERS & OF COUNSELS:	DEPARTMENT AND YEAR ADMITTED	HOURLY RATE	TOTAL HOURS BILLED	TOTAL COMPENSATION \$
Bubenzer, Peter	C - 1979	\$500.00	76.40	38,200.00
Collis, Judy	C - 1985	500.00	158.88	79,440.00
Riihiluoma, John	LI - 1977	500.00	43.80	21,900.00
Fraser, Jennifer	LI - 1992	475.00	201.40	95,665.00
Jones, Michael	C - 1972	500.00	0.30	150.00
Bell, Geoffrey	LI - 1968	425.00	2.40	1,020.00
Howcroft, Nigel	LI - 1984	425.00	4.80	2,040.00
Total Partners			487.98	238,415.00

C – Corporate, LI – Litigation & Insolvency

NAME OF PROFESSIONAL ASSOCIATES:	DEPARTMENT AND YEAR ADMITTED	HOURLY RATE	TOTAL HOURS BILLED	TOTAL COMPENSATION \$
Hastings-Smith, Kelvin	LI - 1990	\$400.00	5.40	2,160.00
Davis, Susan	LI - 1998	275.00	275.25	75,693.75
Di Iorio, Arabella	LI - 1987	425.00	106.80	45,390.00
Dyer-Fagundo, Alison	C - 2000	290.00	83.10	24,099.00
Bhullar, Bal	C - 1995	390.00	26.800	10,452.00
Leese, Jeremy	C - 1995	420.00	24.60	10,332.00
Lynn, Angus	C - 1999	290.00	0.70	203.00
Richardson, Tammy	C - 1997	360.00	0.60	216.00
Total Associates			523.255	168,545.75

 $C-Corporate,\ LI-Litigation\ \&\ Insolvency$ 

NAME OF PROFESSIONAL PARAPROFESSIONALS:	DEPARTMENT	HOURLY RATE	TOTAL HOURS BILLED	TOTAL COMPENSATION
Alleyne, Diane	Ц	200.00	1.0	200.00
Cornell, Penny	С	\$125.00	7.40	925.00
Smith, Valerie	С	\$125.00	26.40	3,300.00
Cox, Bernett	Inc	\$150.00	8.90	1,335.00
Rawlins, Ruby	Inc	\$250.00	1.30	325.00
Lambert, Renee	С	\$225.00	9.75	2,193.75
Kempe, Lucia	С	\$230.00	1.40	322.00
Sittlington, Rhona	С	\$225.00	1.50	337.50
Total Paraprofessionals			57.65	8,938.25

C- Corporate, LI- Litigation & Insolvency Inc - Incorporations

PROFESSIONALS TOTALS:	BLENDED RATE	TOTAL HOURS BILLED	TOTAL COMPENSATION
Partners and of Counsel	488.57	487.98	238,415.00
Associates	322.11	523.25	168,545.75
Paraprofessionals	155.04	57.65	8,938.25
Total Fees Incurred	389.09	1068.88	415,899.00
Total Fees Requested			415,899.00